> restart
> Solucion = y(x) = C;-exp(2-x)-cos(3-x) + C,-exp(2-x) -sin(3-x)

Solucion = y(x) =C, e’ cos(3 x) + C, e’ sin(3 x)

> Sistema := diff (Solucion, x), diff (Solucion, x$2) : Sistema; Sistema.,

d

dx
d_2 _ 2x 1 2x - 2x - 1 2x

12 y(x)=-5C,e"cos(3x) —12C, e sin(3x) =5C,e"sin(3x) +12 C,e" cos(3 x)

y(x)=2C, ezxcos(3 x) —3C, ezxsin(3 x) +2C, ezxsin(3 x) +3C, ezxcos(3 X)

> Parametro = Solve( {Sistema}, {Cl, Cz}) : Parametro; Parametro,,
3

_> SolucionGeneral ‘= dsolve( EcuacionFinal)
SolucionGeneral :=y(x) = ClI " sin(3x) + _C2 ezxcos(3 X)

1 1 d d
C, = - —y(x)] cos(3x) +12 (—y(x)) cos(3 x)
39 2% (cos(3x)> +sin(3x)?) ( ( di? dx
-2 d—2 (x) | sin(3 x) —5( d (x )) sin(3 x)
&2 y dx y
C - L (2 [ )jcos(3x)—3 [d—zy(x)jsin(3x)
239 e?* (cos(3 x)% +sin(3 x)?) i
d d
+5 Ey(x) cos(3x)+12 | — sin(3 x)
_> Ecuacionlnicial == Slmpllfj/(subs( (Parametrol) C,=rh (Parametroz) Soluczon))
S 4 d
Ecuacionlnicial .=y (x) = 13 2 y(x) + 3 y(x)
> FEcuacionFinal = lhs (Ecuacioninicial) -13 — rhs(Ecuacionlnicial)-13 =0
R & d _
EcuacionFinal := 13 y(x) + & y(x) —4 (a y(x)) =0
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